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I- (5 points)

1) Solve the following system:

3x + 2y = 6500
2% + 3y = 6000

2) Nabil and Sami buy croissants from the same bakery.
e Nabil paid 65 000 LL for:
v" 30 chocolate croissants
v" 20 cheese croissants.
e Sami paid 60 000 LL for:
v" 20 chocolate croissants

v" 30 cheese croissants.

a- Write a system of two equations with two unknowns modeling the

given situation.

b- Calculate the price of a chocolate croissant and the price of one

cheese croissant.

c- The bakery offers a 20% discount on the price of the chocolate

croissants only.

Nabil has 100 000 LL.
i.  Verify that the price of one chocolate croissant during this
discount is 1200 LL.

li. Can Nabil buy 50 chocolate croissants and 45 cheese

croissants? Justify.



1I1- (5 points)

A survey is done on a population of 70 men and 30 women about their

preferred mean of transportation.

The person should select only one mean of transportation among: car, bike or

bus.
The results are shown in the following table:

Car Bike Bus Total
Men 35 10 70
Women 15 10
Total 15 100

1) Copy and complete the table above.

2) A person is selected randomly from this population.

Consider the following events:

e C: "The selected person prefers the car”

e B: “The selected person prefers the bike”

e M: “The selected person is a man”
a- Determine the following probabilities:

- P(M)

- P(CM)

- P (6 M E)

3
b- Verify that P(BUM):Z

c- The selected person prefers the car.

Calculate the probability that this person is a woman.




I11- (10 points)
Consider the function T defined over ]_OO; _1[ J ]_1; +OO[ as:

2X% +5X +2

T = X+1

Denote by (C) the representative curve of f in an orthonormal system(o;T,]).

1) Determine )!Lrplf(x) and )!Lnjlf(x).

xX<—1 xX>—1

2) Deduce an equation of an asymptote (d) to (C).

3) a- Determine lim T(X) and lim f(x).
o- Verify that f(X) =2x+3-
X+1
d- Show that the line (D) with equation:
y = 2x + 3 is an asymptote to (C).
4) Calculate '(x).
5) Verify that f'(x) > 0.

6) Complete the table of variations of f.

X —0o0 -1 40

fl
f

7) a- Copy and complete the following table:

X -3 -15 0 1

f(x) | —-25

b- Determine the abscissas of the two points of intersection of (C) and
the x-axis.

c- Draw (d), (D), and (C).

d- Solve graphically: f (x) < 2.



